
Modified:02/04/2015

Phone: (919) 575-6426
Fax: (919) 575-4708
www.eNewton.com

The information contained in this drawing is the sole property of Newton Instrument Company Inc (NIC). Any reproduction in part or whole with out the written permission of NIC is prohibited

WIRE MANAGEMENT PANEL KIT

Stock List
Item QTY Description

1 AR 12-24 Hex Nut
2 AR #12 External tooth washer
3 1 Wire management panel
4 AR 12-24 X 1/2˝ PHMS
5 AR 3-1/2˝ x 3-1/2˝ D-ring

Stock List
Item QTY Description

1 AR 12-24 Hex Nut
2 AR #12 External Tooth Washer
3 1 Wire Management Panel
4 AR 12-24 X 1/2˝ PHMS
5 AR 3-1/2˝ X 3-1/2˝ D-Ring
6 4 Distribution spool

Stock List
Item QTY Description

1 1 1 Ru Wire Management Panel
2 2 12-24 X 1/2˝ PHMS
3 2 Distribution Spool

Ordering Table
Part Number Rack

22180101xx 19"
22180102xx 23"

Ordering Table
Part Number Rack

22180151xx 19"
22180152xx 23"

Ordering Table
Part Number Rack

22180181xx 19"
22180182xx 23"

Description: Wire management panel with bolt on D-Rings for managing Fiber or Copper Cables

Description: Wire management panel with bolt on D-Rings and Spools for managing Fiber or Copper Cables

Description: 1 Rack Unit wire management panel with spools for managing Fiber or Copper Cables

WIRE MANAGEMENT PANEL KIT WITH SPOOLS

1 RU CABLE MANAGER WITH SPOOLS

3-1/2

1/2

1
2

3

4

5

5

3

2

1

6

4

3-1/2

1/2

3
1

2 3-1/2

3.59

1.7


